
83-K 2 CCE  RR  

    (24)510-RR(A)   

 

 10 × 1 = 10 

1. 

 

(A) 7 9 (B) 18 7 

(C) 7 18 (D) 9 7 

2.  

(A)   

(B)  

(C)   

(D)  

3.  

(A)  

(B)  

(C)  

(D)  

4.  

(A)   

(B)  

(C)   

(D)  



CCE  RR  3 83-K 

    (24)510-RR(A)  [ Turn over 

5. 

                

5000 J

 

 (A) 500 J (B) 5 J 

 (C) 0·5 J (D) 50 J 

6.  

 (A) FeSO
4

 + Pb    PbSO
4

 + Fe 

 (B) ZnSO
4

 + Fe    FeSO
4

 + Zn 

 (C) 2 AgNO
3

 + Cu    Cu ( NO
3

)
2

 + 2 Ag 

 (D) PbCl
2

 + Cu    CuCl
2

 + Pb 

7. 

  

 (A) CD (B) BC 

 (C) AB (D) IJ 



83-K 4 CCE  RR  

    (24)510-RR(A)   

8. Fe
2

O
3

 + 2 Al    Al
2

O
3

 + 2 Fe 

  

(A)   

(B)  

(C)   

(D)  

9. R

R l R : R l   

 (A) 1 : 3 (B) 9 : 1 

 (C) 1 : 9 (D) 3 : 1 

10.  

  

 ( G )  ( A ) 

 ( g )  ( a ) 

  

 (A) gGAa (B) GgAa 

 (C) GgAA (D) Ggaa 



CCE  RR  5 83-K 

    (24)510-RR(A)  [ Turn over 

11. A- B-

 4 × 1 = 4 

A  B  

(A)  (i) 

 

(B)  (ii)  

(C)  (iii)  

(D)  (iv)  

 (v)  

 (vi)  

 (vii)  

 7 × 1 = 7 

12.  

13.  

14.  

15. 

16.  

17.  

18.  



83-K 2 CCE  RR  

    (24)810-RR(B)  

 

 10 × 1 = 10 

1. 

 

(A) 

(B)  

(C) 

(D)  

2.  

(A) 11  

(B) 18  

(C) 20  

(D) 3  

3.  

(A)  

(B)  

(C)  

(D)  



CCE  RR  3 83-K 

    (24)810-RR(B)  [ Turn over 

4.  

(A) 

(B)  

(C)   

(D)  

5.  

(A)   

(B)  

(C)   

(D)  

6.  

(A) 

(B)  

(C) 

(D)  



83-K 4 CCE  RR  

    (24)810-RR(B)  

7. 

 (A)   

 (B)  

 (C)   

 (D)  

8.  

(A)   

(B)  

(C)   

(D)  

9. C
2

H
6

,  C
3

H
6

, CH
4

 C
4

H
10

 

 

(A) C
2

H
6

  

(B) C
3

H
6

 

(C) C
4

H
10

  

(D) CH
4

 



CCE  RR  5 83-K 

    (24)810-RR(B)  [ Turn over 

10.  

(A) 3 1  

(B) 1 2 1  

(C) 1 2 1  

(D) 1 3  

11. A- B-

 4 × 1 = 4 

A  B  

(A)  (i) C
6

H
6

 

(B)  (ii) C
4

H
8

 

(C)  (iii) C
4

H
6

 

(D)  (iv) CH
4

 

 
(v) C

3
H

8
 

 
(vi) C

6
H

12
 

 
(vii) C

3
H

6
 

 7 × 1 = 7 

12.  

13.  



83-K 6 CCE  RR  

14.  

15. 

16.  

17. 

 

18. n-  


	1
	2

